

AZEEZ ASHIRAF OLASUBOMI

MECHATRONICS ENGINEERING

19/EN905/017

DR OYELAMI

MAT104

find the integral of the following

$$1) \int \frac{(3x-1)}{(x-1)(x-2)(x-3)} dx$$

Solution

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} = \int \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3} dx$$

$$3x-1 = A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)$$

To find A let $x=1$

$$3(1)-1 = A(-1)(-2)$$

$$3(1)-1 = 2A$$

$$2 = 2A$$

$$A = 1$$

To find B let $x=2$

$$3(2)-1 = B(1)(-1)$$

$$5 = -B$$

$$B = -5$$

To find C let $x=3$

$$3(3)-1 = C(2)(1)$$

$$8 = 2C$$

$$C = 4$$

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \int \frac{1}{x-1} dx - \int \frac{5}{x-2} dx + \int \frac{4}{x-3} dx$$

$$\ln(x-1) - 5 \ln(x-2) + 4 \ln(x-3) + C$$

$$2) \int \frac{x^2 + x + 1}{(x+2)(x+1)} dx = \int \frac{x^2 + x + 1}{(x+2)(x+1)^2} dx$$

Solution

$$\int \frac{x^2 + x + 1}{(x+2)(x+1)^2} dx = \int \frac{A}{x+2} + \frac{B}{x+1} + \frac{C}{(x+1)^2} dx$$

$$x^2 + x + 1 = A(x+1)^2 + B(x+2)(x+1) + C(x+2)$$

$$x^2 + x + 1 = A(x^2 + 2x + 1) + B(x^2 + 3x + 2) + C(x+2)$$

$$x^2 + x + 1 = Ax^2 + 2Ax + A + Bx^2 + 3Bx + 2B + Cx + 2C$$

$$1 = A + B \quad \text{--- (i)}$$

$$1 = 2A + 3B + C \quad \text{--- (ii)}$$

$$1 = A + 2B + 2C \quad \text{--- (iii)}$$

$$A = 1 - B \quad \text{--- (iv)}$$

Taking (ii) and (iii)

$$2 \times 2A + 3B + C = 1$$

$$1 \times A + 2B + 2C = 1$$

$$\underline{4A + 6B + 2C = 2}$$

$$\underline{A + 2B + 2C = 1}$$

$$3A + 4B = 1 \quad \text{--- (v)}$$

Substitute iv into v

$$3(1-B) + 4B = 1$$

$$3 - 3B + 4B = 1$$

$$3 + B = 1$$

$$B = -2$$

Substitute $B = -2$ into iv

$$A = 1 - (-2)$$

$$A = 3$$

Substitute $A = 3$, $B = -2$ into (ii)

$$2(3) + 3(-2) + C = 1$$

$$6 - 6 + C = 1$$

$$C = 1$$

$$\int \frac{x^2 + x + 1}{(x+2)(x+1)^2} dx = \int \frac{3}{x+2} dx - \int \frac{2}{x+1} dx + \int \frac{1}{(x+1)^2} dx$$

$$3 \ln(x+2) - 2 \ln(x+1) - (x+1)^{-1} + C$$

$$3) \int \frac{(x^2+1)}{(x-3)(x-2)^2} dx$$

Solution

$$\int \frac{x^2+1}{(x-3)(x-2)^2} dx = \int \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{(x-2)^2} dx$$

$$x^2+1 = A(x-2)^2 + B(x-3)(x-2) + C(x-3)$$

$$x^2+1 = A(x^2-4x+4) + B(x^2-5x+6) + C(x-3)$$

$$x^2+1 = Ax^2 - 4Ax + 4A + Bx^2 - 5Bx + 6B + Cx - 3C$$

$$x^2 = Ax^2 + Bx^2$$

$$1 = 4A + 6B - 3C$$

$$0x = -4Ax - 5Bx + Cx$$

$$A+B=1 \quad \text{--- (i)}$$

$$-4A-5B+C=0 \quad \text{--- (ii)}$$

$$4A+6B-3C=1 \quad \text{--- (iii)}$$

Taking (ii) and (iii)

$$3 \times -4A - 5B + C = 0$$

$$1 \times + 4A + 6B - 3C = 1$$

$$\begin{array}{r} \cancel{AB} - 2C = 1 \\ C = \frac{1-B}{2} \end{array}$$

$$-12A - 15B + 3C = 0$$

$$+ 4A + 6B - 3C = 1$$

$$\hline -8A - 9B = 1 \quad \text{--- v}$$

$$A = 1 - B \quad \text{--- iv}$$

Substitute iv into v

$$-8(1-B) - 9B = 1$$

$$-8 + 8B - 9B = 1$$

$$-8 - B = 1$$

$$-B = 1 + 8$$

$$B = -9$$

Substitute $B = -9$ into IV

$$A = 1 - (-9)$$

$$A = 10$$

Substitute $B = -9$, $A = 10$ into II

$$-4A + 5B + C = 0$$

$$-4(10) - 5(-9) + C = 0$$

$$-40 + 45 + C = 0$$

$$5 + C = 0$$

$$C = -5$$

$$\int \frac{x^2+1}{(x-3)(x-2)^2} dx = \int \frac{10}{x-3} dx - \int \frac{9}{x-2} dx - \int \frac{5}{(x-2)^2} dx$$

$$10 \ln(x-3) - 9 \ln(x-2) + 5(x-2)^{-1} + C$$

$$4 \int \frac{(x^3+x^2+x+1)}{x-1} dx$$

solution

$$\int \frac{x^3+x^2+x+1}{x-1} dx$$

$$\begin{array}{r} x^2+2x+3 \\ x-1 \overline{) x^3+x^2+x+1} \\ \underline{-x^3-x^2} \\ 2x^2+x+1 \\ \underline{-2x^2-2x} \\ 3x+1 \\ \underline{-3x-3} \\ 4 \end{array}$$

$$\int \frac{x^3+x^2+x+1}{x-1} dx = \int x^2+2x+3 dx + \int \frac{4}{x-1} dx$$

$$\frac{x^3}{3} + \frac{2x^2}{2} + 8x + 4 \ln(x-1) + C$$

$$\frac{x^3}{3} + x^2 + 8x + 4 \ln(x-1) + C$$